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Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 509647744
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 50964713867 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
From the given alternatives, select the word which CAR bhe formed using the letters of the Ziver word,

SEMATORIMNG
Options:

1. % SAMNGUR
2. ¥ SENICE
2 % TORPEN

4. * MORPHING

Question Number : 1 Question Id : 50964713867 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tou mr Eereut # & ag seg giT ST T30 ™ sfeq & SraRt @ ORI @Gy ST ST AT Bl

SEMNATORING
Options:

1. % SAMNGUR
= ¥ SENICE

2. % TORPEN

4. % MORPHING

Question Number : 2 Question Id : 50964713868 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the odd letter fletters from the given alternatives.

Options:
1. % PT
2. % EF
I ¥ M
4 % RV

Question Number : 2 Question Id : 50964713868 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e weg o o o feereut & & fomm anye) argRt &1 g

Options:
1. % PFT
2. % EF
3.9 M



4. ® RV

Question Number : 3 Question Id : 50964713869 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the fOllOV-.?iﬂg qQuestion, select the related letters from the given alternatives.

JEL : MHO - PEE . 7
Options:

1. ¥ SPE

2 % TQF

3. % SPF

4 % TQE

Question Number : 3 Question Id : 50964713869 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T wg # o my Hewedt o & Heted el w1 giam

JEL : MHO : PEE 7
Options:

1. ¥ SPE

2 % TQF

3. % SPF

4 % TQE

Question Number : 4 Question Id : 50964713870 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, ‘ROM' is written as ‘46", FIN' is written as ‘29, What is the code for ‘PAL" in that
code language?

Options:
1. % 329
= W 23
3% 28
4 % 34

Question Number : 4 Question Id : 50964713870 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T AT W 9T H ROM @746’ RITAaT s, FIN @29 WRaT A1aT 31 S0 FIS 9T H PAL’ T IS F47 57
Options:

1. % 35

= ¥ 29

3% 2R

4. % 34

Question Number : 5 Question Id : 50964713871 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



5 is the mother of ¥. U is the husband of 5. ¥ is the son of W. Z is the daughter of ¥. W is the husband of X.
How 15 Z related to WY

Options:

1. % Son

2. % Daughter
= % Father

4. % Mother

Question Number : 5 Question Id : 50964713871 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

SEFAMA U, SRR Y, WH T e Z, X S Q81 W, X FT 0 81 Z, W o e U gated a7
Options:

1. % g7

2 ¥

3 % fugT

4. % #@ET

Question Number : 6 Question Id : 50964713872 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Six teachers E, L, M, 5, T and U are sitting in a row facing towards north (Not necessarily in the same order). T
is third to the right of L. 5 is third to the left of E. U is not towards the right of 5. Only one teacher is sitting
between L and N respectively. E is to the immediate right of T.

Howr mnany teachers are sithing between L and BY

Options:

1. %2

2. % 4

¥ 3

4 ® 5

Question Number : 6 Question Id : 50964713872 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

75 A& E, L, N, 5, T q2ml wﬁ%ﬁmfﬁaﬁt@méﬁgmﬁqﬁfﬁﬁwﬁm T, L & 2T & T 81 5,
E o =T 3T ST 81 U, S o /T o A1 81 #HS L FT N & 7eg U ST SaT goll 51 B, T o & 2l &l 71

L TUTE & 7eg fepa- sTedmer 694 gu 87

Options:

1. 82

o %4

3. v 3

4 % g

Question Number : 7 Question Id : 50964713873 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Six surgeons F, H, J, L, N and P are sitting around a circular table facing towards the centre (Mot riecessarily in
the same order). H is second to the left of F. L is to the immediate left of H. P is third to the right of J. P is
second to the right of F.

Who is sitting second to the left of L?

Options:



1. ®F
2. ¥
3. %P
4 % ]

Question Number : 7 Question Id : 50964713873 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
9% W4 F, H, ], L, N TP dg & 311¢ 5 och U gl 5 o 5, - TS &8 T ¢ (Se4T A1 b oot v # g0l H, F 3 &t
aﬂrwﬁm I—Iﬂa‘fg(—craﬁaﬂr%P Jaa‘a?ﬁaﬂﬁﬁﬂﬂﬁlj F%aﬁaﬂrgﬂﬂ%La?aﬁaﬂTa;ﬂﬂaﬁ:raa‘rgm%?

Options:
1. % F
R
I %P
4 % ]

Question Number : 8 Question Id : 50964713874 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ir1 the fOllDWiﬂg question below are given some statermnents followeed by Sorme conclusions based on those
staternents. Talking the given statermnents to e trug even if they seern to e at variance from CorruTonly knowrl
facts. Read all the conclusions and then decide which of the given conclusion logically follows the givern
Staterments.

Staternents:

[ Al F are M.

II. Some T are M.
III. Mo T 1s E.

Conclusions:

I. Some K are P,

II. Some T are .

IIT. Some M are not k.

Options:

1. % Only conclusion I follow

2. % Both conclusion II and I follow
2. % Both conclusion I and I follow

4. % Cnly conclusion I follow

Question Number : 8 Question Id : 50964713874 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
et T o v g e AR 39 wTg 39 et Ut ATenid g fwerd T o 81 U 0 et @ |l 7, o 39 /e A
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Options:

1. % crerel Tepd 1 STeRoT a3l

2 % gt Tmey 11 T2 111 Sre & gl
3. % AT w1 T I Sre Fd gl
4, e Teary 111 STeoT HaT gl

Question Number : 9 Question Id : 50964713875 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following questiorn, select the missing number from the given series.

33, 50,62, 75, 89,7
Options:

1. % 103

= ¥ 104

3% 102

4 % 105

Question Number : 9 Question Id : 50964713875 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Toafeiie weg o &1 e spmer 4 o <iw S Hi
39, 50, 82, 75, 89, ¥

Options:

1. % 103

2 ¥ 104

3 % 102

4 % 105

Question Number : 10 Question Id : 50964713876 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the related number from the given alternatives.

12:157 147
Options:

1. % 201

2. % 245

3. % 221

4.9 211

Question Number : 10 Question Id : 50964713876 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tt we # fau 0 feeweut # 4 Heldd g w i g

12157 147
Options:
1. % 201



2. % 245
3. % 221
4 ¥ 211

Question Number : 11 Question Id : 50964713877 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ev interchanging which two signs the equation will be correct?

144+11-36 =9 +2=17
Options:

1. % +and =

Z ¥ xand +

3% +and -

4. % +and -

Question Number : 11 Question Id : 50964713877 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TorT 31 Tt o 21T B OREOE A OF WHIE dE 1 5T S

14+11-36x3+2=17
Options:

1. % 4+ q907 %

W T -

3% - oder-

4. % 4 F47-

Question Number : 12 Question Id : 50964713878 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the number which can be placed at the sign of question mark (7) from the
Ziverl alternatives.

413119
62|20
81517

Options:
1. % 48

2. ¥ 53
3. % 57
4 % 52

Question Number : 12 Question Id : 50964713878 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



TraferaT ma f for my et # & we v (7) 3F 99 U ST e ST w g

413119
62|20
81517

Options:
1. % 48
2 ¥ E3
3. % E7
4 % 5P

Question Number : 13 Question Id : 50964713879 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If ‘B means "«', Q' means '+’, P’ means '+ and ‘5’ means ‘-, then which of the following equation is true?
Options:

1. # 13P9R752 =76

Z % 14013RZEF12 = 40

3. % 13P2R16Q4 = 23

4. % 9PSRES13 = 36

Question Number : 13 Question Id : 50964713879 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

afe B wT a0, wanf <+, Py anl o qer s @ anf - g, 1 R O A g gy a?
Options:

1. % 13P9R752 = 786

2 ¥ 14013R2EF12 = 40

2. % 13PZR16C4 = 23

4. % 9PSRES13 = 38

Question Number : 14 Question Id : 50964713880 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the diagrarn that best represents the relationship among the given classes.

Animal, Lion, Wolf

©
@

Options:




Question Number : 14 Question Id : 50964713880 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TE W - AT Al T T AT o s o Herel &1 a1 e HedT o)

Options:

P
a

(©o

Question Number : 15 Question Id : 50964713881 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ev folding the given paper, what will corme on the face opposite to the face containing 'H'™?

AR
H| T
B|G
Options:
1.¥G

o ®oa



3 % B
4 ® T

Question Number : 15 Question Id : 50964713881 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o= T T T WiE WY, 'H G God 3 Cue T Wl 0T 9T SISy

A|R
H|T

Options:
1.9 G

o R
o ®E
4 ® T

Question Number : 16 Question Id : 50964713882 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ev folding the given paper, which of the following cube cannot be formed?

R

9
Hl@
-

Options:

¥



<>

4

Question Number : 16 Question Id : 50964713882 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 17 Question Id : 50964713883 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the figure which can be placed at the sign of question mark (7) from the given
alternatives.

ooooo ooo ooo
‘-I a0 09 ) L1111

Options:



o
o

‘] L2k

i

4. &

Question Number : 17 Question Id : 50964713883 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT weg H Ty W ferepent # & we ey (7) 3 ST U T STAT ST g
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‘I nl one : senee
Options:

1

J

oo
oes

| [T

E

4. &

Question Number : 18 Question Id : 50964713884 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the following question, select the figure which can be placed at the sign of question mark () from the given
alternatives.

ol 1 [a) [0
LIS s

ol
D

()

Options:

™
D

o o

=

——
|-|—|-|.

Question Number : 18 Question Id : 50964713884 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaTeET wg o Ty W ferent # 8 we ey (7) o ST U ST STAT ST g
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Options:

,_.
®

'm|
D
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Question Number : 19 Question Id : 50964713885 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If a mirror is placed on the line AE, then which of the answer figures is the right image of the given figure?

A

—
—

Options:

B
N
—
1« LS
R
}—
>—

2.#
W
——
3 8 —
\w
(_
4 % L

Question Number : 19 Question Id : 50964713885 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT e S T AR TET U TET AN, T7&7 T8 FoX AFiaal § & FI 67 S d Wl ST a1 Tl Wid felel gie

A

—
—

Options:



(_

1, o :
w
pe—

o ® 2
_.('

3 ® ¢
N
—
4 % L

Question Number : 20 Question Id : 50964713886 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A piece of paper is folded and puriched as shown below in the question figures. From the given answer
figures, indicate how it will appear when opened?

s

Options:
U U
vy
vy
1 ® Ln____nJ
U U

N

AA
o o LN

U~ U
AV
VA
z ¥ LN n

L'l
Vv
AV
E N N ) —




Question Number : 20 Question Id : 50964713886 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tl o e angtdat § Ty Sgar 0 o HIS® a1 a2 Giet & o918 oy [0 Ju¢ ST ST (G| e

Options:
Lma

vy
vy
Ny —

,_.
4

U U
vy
A A

e | N ) I—

U~ U
AV
VA

=3 N ) —

=
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s
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General Awareress

Group Number : 2
Group Id : 509647393
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awarerness

Section Id : 509647553
Section Number : 1

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20

Number of Questionsto be attempted: 20



Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 509647745
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 50964713887 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Kuchipudi, dance form originated in ______.
Options:

1. % Andhra Pradesh

Z. % Maharashtra

2. * Jarmrmu & Kashmir

4. % Karnataka

Question Number : 21 Question Id : 50964713887 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

PGS T Jog el ol Feuie ______ # 3E 4

Options:

1. % aqmrudar

2. % mEETy

3. % o ofF e
4 % Flow

Question Number : 22 Question Id : 50964713888 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is an essential musical instrument in the music of traditional Kathak?

[. Tahla
II. Sarangi

Options:

1. % Cnly I

2. % COnly Il

3. ¥ Both I and 11

4 % MNeither I ror 11

Question Number : 22 Question Id : 50964713888 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrgfetaT & & @1 97 ORI T & aiid § SITaeed ariid aread o7

I el
II. 9wt

Options:
1. % Faal



= % il
3. ¥ [ qurll gt
4 ® gFIIITTI

Question Number : 23 Question Id : 50964713889 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who 15 the chairperson of GET Council?

Options:

1. # Prime Minister of India
2. % Union Finance Minster
3. % President of India

4. ® Chief Minister of state

Question Number : 23 Question Id : 50964713889 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
St TR T, OTeE WT arey Wi 57
Options:

1. % O & e /v

o, & S TR wET

3. ¥ qRT o TEdi

4 % T % GEIEET

Question Number : 24 Question Id : 50964713890 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
why was the Economic Survey of 2017-18 printed in pink colour?

Options:

1. ® To start pink revolution in the econory

2. % To highlight wornen's role in parliament

3. % Tounderline the importance of public health

4. ¥ To underline the importance of gender issues

Question Number : 24 Question Id : 50964713890 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
2017-18 T SATRIF Felaor Tars! o1 § ot gur ar7

Options:

1. % arfeeer ®§ et Fiid & F- & w7

2. ® wag ¥ uigareit ST i w aET ZTe %
3. ® GrEE Caed & Hgod @1 (i e @ o
4 offier qEt & Hged @1 (@it @ & ol

Question Number : 25 Question Id : 50964713891 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Animals on the verge of extinction are called

Options:

species.



1. ® extinct
= ¥ endangered
3. % abundant

4. % native

Question Number : 25 Question Id : 50964713891 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o 51+ o TR O Hig AHeR] @ ______ AT I 5T AT 2l

Options:

1. % e
2. ¥ fau
3% R
4. ® FoRT

Question Number : 26 Question Id : 50964713892 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following does NOT contribute to the weather of a place?

Options:

1. % Soil

= % windspeed
3. % Rainfall

4. % Hurnidity

Question Number : 26 Question Id : 50964713892 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T § & &9 U w0 & e § aiee TRl @ 7
Options:

1.9 3o

2 % gRy @

3. % gt

4, % aqEar

Question Number : 27 Question Id : 50964713893 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fh walue of pure distilled water is

Options:
1. % 0%
z %15
3. ¥ 74
4. % 14

Question Number : 27 Question Id : 50964713893 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
S, T A FTPR O ______ FAGLE



Options:
1. %05
Z % 15
3. ¥ 74
4. % 14

Question Number : 28 Question Id : 50964713894 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A bicycle bell acts as a

Options:
1. % Convex rrirror

2. % Concave rrirror
2. % Convex lens

4 * Concave lens

Question Number : 28 Question Id : 50964713894 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T AT Tohel S el e ______ o &0 H o WAt al

Options:

1. & et g
= % SrEder gum
3 % A
4. ® IEIA e

Question Number : 29 Question Id : 50964713895 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Where does Eastern and Western ghats meet?

Options:

1. ¥ Nilgiri Hills

2. % Aravalli Hills
2. # MNallamala Hills
4. ® Javadi Hills

Question Number : 29 Question Id : 50964713895 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
et ofie ol A wt e £
Options:

1. & A ugrizat

o R e wgTEat

3. ® TEcTHIAT UgTiaar

4. ® FEerugnear

Question Number : 30 Question Id : 50964713896 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Which s01l 15 also known a5 Eegur 50117
Options:

1. ¥ Red Soil

= % Peaty Soil

2. ¥ Black Soil

4. % Laterite 5Soil

Question Number : 30 Question Id : 50964713896 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T O gaT & ®F | o ST AT a7

Options:

1. % ool gar
2. ® dEAgHar
=, o FEI T
4, ¥ FETET gar

Question Number : 31 Question Id : 50964713897 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following country does not share land border with India?

Options:

1. ® Pakistan

Z % afghanistan
2. % China

4. % [ran

Question Number : 31 Question Id : 50964713897 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tl o & 1 a1 S IR & w7 o ST 9 g T a7
Options:

1. ® orfepeam

2 % e

z ® e

4 ¥ Ee

Question Number : 32 Question Id : 50964713898 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How many Mahajanpadas existed during lifetime of Lord Buddha in 7th and early 6th century BEC?

Options:
1. ¥ 19

2. ¥ 16
3 %11
4 % 5

Question Number : 32 Question Id : 50964713898 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
7T TT EATH T 6T A Ten ! SAT e H WIET g o (el & g [dhd Agrag, Hig <7
Options:

1. % 19
2. ¥ 15
3% 11
4 ® 5

Question Number : 33 Question Id : 50964713899 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich dynasty belonged to Karnataka?

Options:

1. % Pala

Z % Chola

2. ¥ Rashtrakuta

4 % Seng

Question Number : 33 Question Id : 50964713899 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T TGS T lCa o 477

Options:
1. % om&
= % =

3. ¥ TEgT
4 ® #q

Question Number : 34 Question Id : 50964713900 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Where are the rock cut caves of Ajanta situated?

Options:

1. ® Madhva Pradesh
Z % Gujarat

3. % Karnataka

4. ¥ Maharashtra

Question Number : 34 Question Id : 50964713900 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Options:
1. % meues

2. % T
3. ® FAlew

4. wErRTY



Question Number : 35 Question Id : 50964713901 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is the highest award for military services in India?

Options:

1. % Padma Vibhushan
2. % Param Vir Chakra
3. % Arjuna Award

4 % Vir Chakra

Question Number : 35 Question Id : 50964713901 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR e TET # 8 I A7 T H e Haret @ o Hellg e 57

Options:

1. % e fenqmm
2. WA T
3 % SR ERT
4, % Fwaw

Question Number : 36 Question Id : 50964713902 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The book 'Game Changer' is an autobiography of

Options:

1. % 3achin Tendulkar
2. % Shahid Afridi

2. # Shoaib Malik

4 % virat Kohli

Question Number : 36 Question Id : 50964713902 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“TH AT [ede T ST 2l
Options:

1. % gRE dgaat

2. ¥ Aigg SELe!

2 % e Afew

4 % TR wge

Question Number : 37 Question Id : 50964713903 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The International Atormic Energy Agency JAEA) was established in year

Options:
1. % 1957

2. % 1995
3. % 1971
4. % 1932



Question Number : 37 Question Id : 50964713903 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
SITCCPT GTATY] Foft SITHeReor [AEA) ST ST a ______ H gE o

Options:

1.9 1957
= % 1995
3. % 1971

4. % 1982

Question Number : 38 Question Id : 50964713904 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The 124th amendment of Indian constitution deals with

Options:
1. ¥ Econormically backward sections

2. % Fundamental rights
2. % Reservation for OBC's

4 #* Creation of new states

Question Number : 38 Question Id : 50964713904 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T 127 T T 1 24aT qared ______ o HeA 8T 3l
Options:

1. ¢ sridier w0 & iwg gu =t

2. % M afee

3. % e @ o s

4. % gy ot @ et

Question Number : 39 Question Id : 50964713905 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following word is not mentioned in the Prearmble of the Indian constitution?

Options:

1. % Dermocartic

2. ¥ Ermpowermernt
3. % Socialist

4. % Republic

Question Number : 39 Question Id : 50964713905 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TERET # 8 T deg T Ioeid IWd I Al & IR ideT § 5l 87
Options:

1. ® FArpdAcA®

2. ¥ FarhE

3. ® gurane



4, ® MR

Question Number : 40 Question Id : 50964713906 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
20139 IAAF World Relays was organised in

Options:

1. ¥ Dwha, Gatar

2. % Nanjing, China
3. # IMNew Delhi, India
4 ¥ Yokohama, Japan

Question Number : 40 Question Id : 50964713906 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
2019 IAAF Tea e o e T T om

Options:
1. % T FAX

2. % R, 2 e
3. ® 9E fowdl, Ing
4, & AFIEHT, 0=

Arithmetic Ability

Group Number : 3
Group Id: 509647394
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithrmetic Ahility

Section Id : 509647554
Section Number : 1

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 20
Number of Questionsto be attempted: 20

Section Marks: 20
Display Number Panel: Yes
Group All Questions: No



Sub-Section Number: 1
Sub-Section 1d: 509647746
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 50964713907 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

OO b+THTxT
(36 —42+49)

What is the value of:

Options:
1. % 15
2 %1

3% 13
4 % 12

Question Number : 41 Question Id : 50964713907 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

OxO6x6+TxTxT
(36 -42+49)

Options:

1. % 15

2 %1

3.9 13

4 % 12

FT AT FT 272

Question Number : 42 Question Id : 50964713908 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
. g o 3
What is the value of: 34" — 18— 1677
Options:
1. ® 848
2 ¥ 576

3. ¥ g25
4. % 543

Question Number : 42 Question Id : 50964713908 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
2 g, g
34°—18°— 16" &l HIA T g7
Options:
1. % g4

2. ¥ 576
3. % 625



4. % 543

Question Number : 43 Question Id : 50964713909 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the value of ((0.2)"')*?

Options:

1. %1
%3

o ® 02

Question Number : 43 Question Id : 50964713909 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
((0.2)""Y =1 #1T F47 §2

Options:

1. %1

1

> ® 0

]

Question Number : 44 Question Id : 50964713910 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The Least Corrumon Multiple of three numbers is 5096 Which of the following number cannot be their Highest
oo Factor?

Options:
1. % 13
= ¥ 18
3. % 2B
4. % 14

Question Number : 44 Question Id : 50964713910 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % 13
2 ¥ 16
3. % 25
4 % 14

Question Number : 45 Question Id : 50964713911 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Howr many numbers between 2 and 700 are divisible by both 2 and 4 bat not divisible by 247

Options:
1. % 28
2. %27
3. ¥ 29
4 % 30

Question Number : 45 Question Id : 50964713911 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
2 FUT 700 F st wdt frair e § 77 3 797 4 & o § W 24 | aveT TR g7

Options:
1. % 28
2. % 27
3.9 29
4. % 30

Question Number : 46 Question Id : 50964713912 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If in a group of 18 men, two men of an average age of 58 years are replaced by two new men, then the average
age of the group decreases by 2 vears. What is the average age of 2 new men?

Options:

1. # 36 vears
2. % 3B vears
2. ¥ 40 vears
4. % 42 vears

Question Number : 46 Question Id : 50964713912 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

qe 18 o # og o afieT EIEE W ET AT T TTA e AT R, 97 FHE o AT oY HFAEI AT 5
|am§ﬁﬂaﬁgﬁmw%? B T T i ™

Options:

1. % z5af
2 % 3o
3 ¥ 40 Ty
4 % 42




Question Number : 47 Question Id : 50964713913 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
£5 cm is what percent of 260 m?

Options:

1. ¥ 25 percent

= ¥ 025 percent
3. % 0.025 percent

4. % 00025 percent

Question Number : 47 Question Id : 50964713913 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
65 ® A, 260 Hiex &7 o= nideT &7

Options:

1. % 25 nidem

2. ¥ 0,25 uideT

3. % 0025 uRaT
4. % 00025 nidaT

Question Number : 48 Question Id : 50964713914 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The cost price of an article is s, 1250 and its selling price is Ks. 1500, What is the profit percentage?

Options:

1. ¥ 3323 percent
= ¥ 20 percent

3. % 1666 percent

4. % 15 percent

Question Number : 48 Question Id : 50964713914 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e %q, 1 9 07 d 1250 #0305 97 SaeT 0w d §rd 1500 T 31 @1 HidaT 797 37
Options:

1. % 3333 uidaT

o ¥ 2ouldaT

z % 1666 Ui

4 # 15 uiguT

Question Number : 49 Question Id : 50964713915 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
©mn selling a car for RBs. 45000, a dealer incurs a loss of 10%. At what price should he sell the car to gain 20%?

Options:
1. ®¥ Es 50000

2. % Rs 55000
3. ¥ Rs. 60000



4. % RHs 70000

Question Number : 49 Question Id : 50964713915 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T T 45000 F0 P slei 0T T T @1 10% ST g1 51dT 81 20% T AT BT & ol 38 FR F1 TFa- 5o 0 <=1

Options:
1. % 50000 &

= ¥ gooQQ FE
= & 0000 BT
4 ¥ 70000 T

Question Number : 50 Question Id : 50964713916 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
a:-b=2:Zandb:c=4:3 Ifa =32 then what is the value of 7

Options:
1. % 27
= ¥ 26
3% 45
4 % 54

Question Number : 50 Question Id : 50964713916 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
a:b=2:3dMb:c=4:37R3qca =328 IcFTAFFATE?
Options:

1. % 27

2 ¥ 36

3. % 45

4 % 54

Question Number : 51 Question Id : 50964713917 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& sumof Rs. 380 is divided among P, @, R and 5 intheratioof 8: 9 10: 11, How much money should be
taken from each of thern so that the ratio of their sum becormes 6 7 0 5 97

Options:

1. % REs 10
=z ¥ Rs. 20
2. % Rs 15
4 % Hs 18

Question Number : 51 Question Id : 50964713917 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

UF Z80 P FI AT P, O RIS FaAd 8: 9 10 11 % rgurd  oier AT 51 378 € Uede § g &9 o Frigty a1
TAR A FTSUE 6 7 8 95T AMW?

Options:




1. % 10707
= ¥ 20 T
3 % 15w
4. % 18wy

Question Number : 52 Question Id : 50964713918 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What will be the simple interest on a sum of Rs. 8400 for 2 yvears at the rate of 12% per annum?

Options:

1. % Rs. 3024
2. % Es. 2016
3. % Rs 1054

4. % Rs 1512

Question Number : 52 Question Id : 50964713918 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e S400 T2 T i m 12% nid o & s 0 2 aut ST @ T2 99T Y

Options:

1. % 3024 7
2 ¥ 2016 T
3. % 1054 ¥
4, % 1512 w7

Question Number : 53 Question Id : 50964713919 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If the compound interest {compounding annually) on a sum of Rs. 1200 for two years is Rs. 528, then what is
the rate of interest per annum?

Options:

1. ® 26 percent
2. % 25 percent
3. % 22 percent
4. ¥ 20 percent

Question Number : 53 Question Id : 50964713919 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

It Ua 1200 T &1 I8 0T T a7 HT T g 0 (@THE G- 8) 528 T4 5, F7 0T Ty <2 & 3¢ 7497 57
Options:

1. % 25 uideaT

2. % 20 OideT

3. % coudeT

4. ¥ 20 nideT

Question Number : 54 Question Id : 50964713920 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



A car moves at a speed of 360 km/h. How much distance will it cover in 1 hour 50 minutes?
Options:

1. % 540 km

2. % B00km

3. ¥ BE0 km

4. ® 460 km

Question Number : 54 Question Id : 50964713920 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T B 360 T Al | uer T i @ EdT 8 9y 1 He 50 e # TRt 3O ag w ey

Options:

1. % 540 WAt
2. % 500 Rp AT
= ¥ 560 T AT
4. % 460 AT

Question Number : 55 Question Id : 50964713921 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A& train of length 600 m moves at speed of 60 m/s. How long will it take to cross another train of length 1200
m moving in opposite direction at a speed of 90 m/s?

Options:

1.9 12 sec
2. % 15sec
2% 20sec

4 % 13 sec

Question Number : 55 Question Id : 50964713921 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A 600 AET el TAM=T, 60 Aley | Havs & Mid & =ed T 51 THovia e # 90 diey d@gvs &1 mid & = 51 1200 Hie Fa=l
TATIET 1 O @ § 2 epaaT &8 w17

Options:
1. v 12 dgre

o ® 15 ggrz
3 ¥ o0 EmE
4 ® 15 gz

Question Number : 56 Question Id : 50964713922 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Aand B can doa work i 20 days, B and C can do it in 24 days and A and C can do it in 20 days. How many
rmore days will © alone talke to cornplete the same work than AY

Options:

1. % 24 days
2. % 16days
2.9 32 days
4. % 25 days



Question Number : 56 Question Id : 50964713922 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ATRMETFFHE A 0 A aad s ETC g g 24 A A aad § i a mmc s #r S0 A A aw aad &
| SHT T O e o Tl C ATk, A Terae arferer T A

Options:

1. % 242
2 % 16T
3 ¥ 30 feA
4 ® 25T

Question Number : 57 Question Id : 50964713923 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The ratio of length, breadth and height of a cuboid is 3 2 1. If the total surface area of the cuboid is 792

cmE, then what is the volurne of the cuboid?
Options:

1. % 1440 cm®

o ¥ 1296 cm®

3. % 512 cm®

4. % 200 cm?

Question Number : 57 Question Id : 50964713923 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T AT W1 TS, dISTe Tl SaTs & S 30 20 1 g1 Al O T P YR S 792 & 2 2, T AT T AT F247 57
Options:

1. % 1440 # it 7

> 1296 &4 7
2 % 5io @
4. % oop @t

Question Number : 58 Question Id : 50964713924 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The pie chart given below shows the various expenses incurred by a family. The various expenses are showrl
as the percentage of total expenses incurred.

If the total expenses incurred by the family is Rs. 36000, then how much amount is spent by the family on A7
Options:
1. % Rs 12400



2. % Rs. 10800
3 % KEs 11600
4 % Hs 7200

Question Number : 58 Question Id : 50964713924 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
et Tz T g o F # g uieR gy T T 9w o i el g diaT 8 TV e & @il W el T T ] o Widad & &

H Zariar T 81

/ ™,

o b
f A3D
{ D14 \
— [ |
\ c20 / H";

"-. I B, 3.; ;

I
N | P

._\‘

afe OiER &R T T et @i 36000 #0408, 7 UNaR’ ERT A U a1 @i faa ma 22
Options:
1. % 12400 T

= & 10800 &7
3. % 11600 0
4 ® 7200 0

Question Number : 59 Question Id : 50964713925 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The table given below shows the number of cars and bikes sold by a company in five years.

Year | Car | Bike
Y1 360 280
Y2 420 120
Y3 340 160
Y4 530 420
Y5 240 340

what is the difference between the number of bikes sold in year ¥4 and the nurnber of cars sold in year ¥57
Options:

1. % 240

2. ¥ 120

2% 160

4. % 220

Question Number : 59 Question Id : 50964713925 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



AT 1 TE FTTGieRT U =T T T Al § Sl e R S g o T o gaiar o)

Y FR | d56
Y1 | 360 | 280
Y2 | 420 | 120
Y3 | 340 | 160
Y4 | 530 | 420
Y5 | 240 | 340

Y V4 H et T STgeRt i T T @ VS H el TS W Rl HEAT & sl T Sa¥ F9 g
Options:

1. % 240

= ¥ 180

3. % 160

4. % 220

Question Number : 60 Question Id : 50964713926 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The bar graph given below shows the number of persons visited mall on the S days.

450 400
400 - —

350 + 300 300
300 A

250 4 00
150 - 100
100 -
50 4 ﬂ
0 T ¥
D1 D2 D3 D4 D5

Davs

Number of Persons

Wwhat is the ratio of the nurnber of persons visited mall on day D2 and the total number of persons visited mall
during all the five days?

Options:

1.9 32:13
. ®1:2
3.%1:5
4 % 1:3

Question Number : 60 Question Id : 50964713926 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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450 ~ 400
E 400 A 7
! -;gg 1 300 300
% 250 1 200

20004 ™

150 + 100
100 - -
50 4

ﬂ T T T T 1

D1 D2 D3 D4 D5

D2 &7 U% H1a GHT e ATel Skl Sl HEaT 32T @t uie T # OTet YT o0 alef s ih ol ol ST & ST a7 57

Options:

1. 3:13

o ®1:2

3 % 1:5

4 ®1:3

eneral English

Group Number : 4

Group Id: 509647395

Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit?: No

Break time: 0

Group Marks: 20

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

rarleral English

Section Id : 509647555
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 16
Number of Questionsto be attempted: 16
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 509647747



Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 50964713927 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following sentences contain an error?

Options:

1. % Ramis playing football

2. % Karan was eatirig an apple vesterday
3. ¥ Tell the truths always

4. # Honesty is the best policy

Question Number : 61 Question Id : 50964713927 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the folln:nwing Senternces contain an error?

Options:

1. ® Ramis playving football

= % Karan was eating an apple vesterday
3. 9 Tell the truths alveays

4. % Honesty is the best policy

Question Number : 62 Question Id : 50964713928 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

There was (1) | too rrany sheep (2) [ in the animal market (2) [No error (4)
Options:
1.v1
e %2
3. %3
4 % 4

Question Number : 62 Question Id : 50964713928 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

There was (1) [ too many sheep (27 1 in the anirmal market (3 (Mo error (4)
Options:
1.v1
2 % 2
3 %3
4 % 4

Question Number : 63 Question Id : 50964713929 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Improve the bracketed part of the sentence.

The tigers and lions (sat) together during the circus shomw tormorrow.
Options:

1. * sits

2. ¥ will sit

2. % was sitting

4. % MNoimprovernent

Question Number : 63 Question Id : 50964713929 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

The tigers and lions (sat) together during the circus show tormorrom.
Options:

1. % sits

= ¥ will =it

3. % was sitting

4. % DMNoimprovernent

Question Number : 64 Question Id : 50964713930 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[rnprove the bracketed part of the sentence,

We saw a Cat {irito) that house,
Options:

1. % to

2. % with

3. ¥ inside

4. % IMNoimprovernent

Question Number : 64 Question Id : 50964713930 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

We saw a cat {into) that house.
Options:

1. % to

2. % with

2. ¥ inside

4. % MNoimprovernent

Question Number : 65 Question Id : 50964713931 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word.

good child wall always obey his parents.



Options:
1.9 4
2 % An
3. % The

4. % MNo article is required

Question Number : 65 Question Id : 50964713931 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word.

good child will always obey his parents.
Options:

1.9 A

2 % An

3. % The

4. % MNo article is required

Question Number : 66 Question Id : 50964713932 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word.

Many children did not the promotion at all.
Options:

1. % got

2. #® iz getting

Z. ¥ get

4. # gre getting

Question Number : 66 Question Id : 50964713932 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word.

Many children did not the prormotion at all.

Options:
1. % got
2. % i3 getting
3. ¥ get

4. % gre getting

Question Number : 67 Question Id : 50964713933 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The question below consists of a set of labeled parts. Out of the four options given, select the most logical
order of the parts to form a cohorent sentence.

F: the I'EliI'l}.F 5295011

2 You should always
E: With vou during

5 CElI‘I“}.? ar urnbrella

Options:

1. % PQRES
2. % QRPS
= ¥ QSREP
4 % OS5PR

Question Number : 67 Question Id : 50964713933 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The question below consists of a set of labeled parts. Out of the four options given, select the most logical
order of the parts to form a cohorent sentence.

F: the I'EliI'l}.F 5295011

2 You should always
E: With vou during

5 CElI‘I“}.? ar urnbrella

Options:

1. % PORS
2. % QRPS
2. ¥ QSREP
4 % OS5PR

Question Number : 68 Question Id : 50964713934 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The question below consists of a set of labeled parts. Out of the four options given, select the most logical
order of the parts to form a cohorent sentence.

F: college in

) in an Engineering
E: Martin 15 studying
S: the first vear

Options:

1. % PORS
2. % ROPS
2. % RPOS
4 % REQP

Question Number : 68 Question Id : 50964713934 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The question below consists of a set of labeled parts. Out of the four options given, select the most logical
order of the parts to form a cohorent sentence.

F: college in

2 in an Engineering
E: Martin 15 studying
S: the first vear

Options:

1. % PQRS
2. ¥ ROPS
3. % RPOS
4 % RSP

Question Number : 69 Question Id : 50964713935 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that means the same as the givenn word.

Svmpathy
Options:

1. % Elame

2. % Pitilessness
3. % Distant

4. 9 Compassion

Question Number : 69 Question Id : 50964713935 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“hoose the word that means the same as the given word.

Swrrpathy
Options:

1. % BElame

= % Pitilessness
3. % Distant

4. ¥ Cormpassion

Question Number : 70 Question Id : 50964713936 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_hoose the word that is opposite in meaning to the given word.

Disapprowve
Options:

1. ¥ Accede
= % Expand
3. % Reject
4. % Cheerful

Question Number : 70 Question Id : 50964713936 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
_hoose the word that is opposite in meaning to the given word.

Disapprove
Options:

1. ¥ Accede
2. % Expand
=, % Reject
4. % (Cheerful

Question Number : 71 Question Id : 50964713937 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
WOrd.

Options:

1. ®* Ecentric

= ¥ Bccentric
2. % Essentrik

4 % Essentrk

Question Number : 71 Question Id : 50964713937 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
word.

Options:

1. * Ecentric

2. ¥ BEccentric
2. % Essentrik

4. % Essentrk

Question Number : 72 Question Id : 50964713938 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word i3 incorrectly spelt. Choose the incorrectly
spelt word.

Options:

1. % Acculturate
2. % Diminish

2. ¥ Aproachable

4. % Barbaric

Question Number : 72 Question Id : 50964713938 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are givenn out of which one word is incorrectly spelt. Choose the incorrectly
spelt word.

Options:
1. % Acculturate



2. % Dirminish
3. ¥ Aproachable
4. % Barbaric

Question Number : 73 Question Id : 50964713939 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, out of the Fiverl four alternatives, select the alternative which best expresses the
ITEanIng of the Idicm | Phrase.

Hard core

Options:

1. ¥ Deterrmined

Z % At full speed

3. % Anundesirable company

4 % At a close distance

Question Number : 73 Question Id : 50964713939 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the [dicm | Phrase.

Hard core

Options:

1. ¥ Deterrnined

= # At full speed

3. % An undesirable cormpany

4 % Atz close distance

Question Number : 74 Question Id : 50964713940 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom | Phrase.

To burn one's boats

Options:

1. % In a perfectly healthy condition

= % A real loved one

2. ¥ To do something which cannot be reversed
4. % To be hurrble and beg

Question Number : 74 Question Id : 50964713940 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, cut of the given four alternatives, select the alternative which best expresses the
ITEaning of the Idicm | Fhrase.

To burn one's hoats
Options:



1. # In a perfectly healthy condition

= % A real loved one

2. ¥ To do something which cannot be reversed
4. % Tobe hurrble and beg

Question Number : 75 Question Id : 50964713941 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given senterice.

Public merry making and procession.
Options:

1. % Zigzag

2. ¥ Carnival

3. % Abdomen

4. % Ahbhot

Question Number : 75 Question Id : 50964713941 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
hoose the word that can substitute the given sentence.

Fublic merry making and processiorn.
Options:

1. ® Zigzag

2. ¥ Carnival

3. ¥ Abdormen

4. % Abbot

Sub-Section Number: 2
Sub-Section 1d: 509647748
Question Shuffling Allowed : Yes

Question Id : 50964713942 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Cuesticon Label | Comprehension



Read the following information carefully and answer the given questions:

Sofia Margarita Vergara is a Colombian-American actress and model. Vergara rose to prorminence while co-
hosting two television shows for Spanish-language television network Univisidn in the late 1990s. Her first
notable acting job in English was in the film Chasing Papi(2003). Subsequently, she appeared in other films,
including Four Brothers (2005) and two Tyler Perry films: Meet the Browns (2008) and Madea Goes to Jail
(2009), receiving an ALMA Award nomination for the latter. Wergara's success on television has earned her
roles in films The Smurfs (2011), New Vear's Eve (20113, The Three Stooges(2012), Machete Kills (2013), Chef
(2014), and Hot Pursuit (2015); and voice-over roles in Happy Feet Two (2011, Escape from Planet Earth
(2013 and The Emoji Movie (2017). In 2012, 20132, and 2016, she was the top-earning actress on Us
televisionl. Vergara stars on the AEC series Modern Farmily as Gloria Delgado-Pritchett, for which she has been
norminated for four Golden Globe Awards, four Primetime Emmy Awards, and seven Screen Actors Guild
Awards,

Vergara was born to a Roman Catholic family in Barranquilla. Her mother, Margarita Vergara de Vergara, was
a homermaker, and her father, Julio Enrique Vergara REobayo, was a cattle rancher for the meat industry. She
was nicknarned "Toti" by her five siblings and many cousins. Vergara initially studied three years of dentistry
at a university in Colombia but left two semesters away from her degree to pursue opportunities in modeling
and show business. She subsequently moved to Miarm, Florida, leaving behind the unrest in Colomibia, where
her older brother Rafael was murdered in 1998 during an atternpt to kidnap him. Her cousin and adopted
sister, Sandra, 15 also a television actress in the United States.

Sub questions

Question Number : 76 Question Id : 50964713943 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
For which mowvie did Sofia receive an ALMA Award rormination?

Options:

1. % Chasing Fapi

2. % Madea goes to Jail
3. % Meet the browns

4. % Four Brothers

Question Number : 77 Question Id : 50964713944 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Inn which film she did not play a woice — over role?

Options:

1. ® The Emoji Movie

2. % Happy feet two

2. % Escape from Planet Earth
4 % Chef

Question Number : 78 Question Id : 50964713945 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich word from the passage mean the same as EMINENT?

Options:

1. ¢ IMotable

2. % Appeared
3. % Prominence

4. % sdopted

Question Number : 79 Question Id : 50964713946 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
The word SUBSEQUENTLY is opposite i rmeaning to:

Options:
1. % Latter

Z %= Infra
3. % Former

4. #® Consequently

Question Number : 80 Question Id : 50964713947 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Why did she not complete her course of dentistry?

[. To pursue opportunities in modeling
IT. To try showe business

Options:

1. % Onlyl

2. % Only 11

2 ¥ BothlandII
4. # Neither I ror 11

Question Id : 50964713942 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Cuesticon Label | Comprehension

REead the following information carefully and answer the given questions:

Sofia Margarita Vergara is a Colombian-American actress and model. Vergara rose to prominence while co-
hosting two television shows for Spanish-language television network Univision in the late 19905, Her first
riotable acting job in English was in the film Chasing Papi(2003). Subsequently, she appearad in other films,
including Four Erothers (2005) and two Tyler Perry films: Meet the Erowns (2008) and Madea Goes to Jail
{200%9), receiving an ALMA Award nomination for the latter. Vergara's success on television has earned her
roles in films The Smurfs (2011), MNew Year's Eve (2011), The Three Stooges(2012), Machete Kills (2013), Chef
(2014), and Hot Pursuit (2015); and voice-over roles in Happy Feet Two (20113, Escape from Planet Earth
(2013) and The Frmoji Movie (2017 In 2012, 2013, and 2016, she was the top-earning actress cn 115
television. Vergara stars on the ABEC series Modern Farmnily as Gloria Delgado-Pritchett, for which she has been
nominated for four Golden Globe Awards, four Primetirme Emimy &Awards, and seven Screen Actors Guild
Awards.

Yergara was born to a Roman Catholic family in Barranquilla. Her mother, Margarita Vergara de Vergara, was
a homeraker, and her father, Julio Enrique Vergara Eobayo, was a cattle rancher for the meat industry. She
was nicknamed "Toti" by her five siblings and many cousins. Yergara initially studied three vears of dentistry
at a university in Colombia but left two semesters away from her degree to pursue opportunities in modeling
and show business, She subsequently moved to Miarm, Florida, leaving behind the unrest in Colormibia, whiere
her older brother Rafael was murdered in 1992 during an atternpt t0 kidnap him. Her cousin and adopted
sister, Sandra, is also a television actress in the United States

Sub questions

Question Number : 76 Question Id : 50964713943 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
For which mowie did Sofia receive an ALMA Award nomination?

Options:
1. ® Chasing Papi
2. ¥ Madea goes to Jail



3. % Meet the browns

4 % Four Brothers

Question Number : 77 Question Id : 50964713944 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which film she did not play a voice - over role?

Options:

1. # The Emoji Movie

2. % Happv feet two

3. #® Escape from Planet Earth
4. ¥ Chef

Question Number : 78 Question Id : 50964713945 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich word from the passage mean the same as EMINENTY

Options:

1. ¥ Motable

= % Appeared
2. ® Prominence
4. % adopted

Question Number : 79 Question Id : 50964713946 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The word SUESEQUENTLY 15 opposite irl meaning to:

Options:

1. % Latter
2. % Infra
2. ¥ Former

4. % Consequently

Question Number : 80 Question Id : 50964713947 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhy did she not complete her course of dentistry?

[. To pursue opportunities in modeling
II. To try show business

Options:

1. % Cnlyl

2 ® only I

3. ¥ Both [ and 11
4. % Neither I nor I

Zeneral Hindl
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Question Number : 81 Question Id : 50964713948 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Taw T sreat & AR AT AT S

T + arf
Options:

1. & ot
2. % mogapf
3. % wanf
4 % geot

Question Number : 81 Question Id : 50964713948 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Taw m7 gt A G A

o + apf

Options:
1. meamed

o % gomant
Z. % ol



4 % goodf

Question Number : 82 Question Id : 50964713949 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ToTT T Sreg o U BT =

HATeT

Options:
1. % aq
2. ¥
3%
4. % ar

Question Number : 82 Question Id : 50964713949 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ta Ty g, & Fuent @7 = Hi

HATGE

Options:
1. % aq
2. ¥ aq
3% X
4 % g

Question Number : 83 Question Id : 50964713950 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TAH | W AT Jeg, STHT Wedd @I ARl a7
Options:

1. ® @2

2. % TRy

3.8 g

4. S

Question Number : 83 Question Id : 50964713950 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T & W AT 55 THT Wead & g1 57
Options:

1. % W=7

2. % T

I % OgTeET

4 FaAmT

Question Number : 84 Question Id : 50964713951 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



o 0 Aleg oF THT TSUE T o4 difem

o

Options:

1. ¢ gog w1 Sftar § Fan
2. % gog & agEn

3. % gog w1 Eeg

4 % gog o e

Question Number : 84 Question Id : 50964713951 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T T e, oF TATT Ta0g 7 == S

LR

Options:

1. ¢ e T ST e
2 % Ogog & e

3. % gog w19zl

4 % geg AT e

Question Number : 85 Question Id : 50964713952 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TieET § & @ 9T Jeg I @ @A dE 51 57

Options:

1. % et
2. % FIiEr
= ¥ gt
4 % TS

Question Number : 85 Question Id : 50964713952 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
T 8 & & 9T Jeg U F @A deg TRl a7

Options:

1. % gt
2 % gErr
3. ¥ g
4. ® TS

Question Number : 86 Question Id : 50964713953 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T2 M7 sreg @7 BT e AT

[EEY
Options:

1. v wid

2. % aETHET



% % mgh

4 ® aregTam

Question Number : 86 Question Id : 50964713953 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T Seg @ T deg AT dhifT

GE
Options:

1. v =id
2. % SRTEET
3 % ngft
4. % et

Question Number : 87 Question Id : 50964713954 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
SIg AT BT T A

Options:

1. % dgdag®

2 ® "hedaeTa

3 % fgddew

4. & e

Question Number : 87 Question Id : 50964713954 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
g, AT T A I

Options:

1. % Hrgdag®

2 ® dhgdadsa

3. ¥ Hadaus

4 & Fradais

Question Number : 88 Question Id : 50964713955 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T sTeg, AE ¥ o0 I deg T O9 S

WWa R Tw
Options:

1. % {7 - 79
2. % gEAtdE
3. ¥ UTEAET®
4. % RO

Question Number : 88 Question Id : 50964713955 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Tem ™y sreg w0E ¥ oy SR geg @ =ee FfEm

v & &Y a&
Options:

1. % firg - 79
2. % UaHETE
3. AUTgHCd®
4 % RO

Question Number : 89 Question Id : 50964713956 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TAH | W AT AT T AT gl 57

Options:

1 % ag Ag® IEAT R

2 ¥ AU WO

3 % B ASd W gaArm

4 & g e AT It AT T

Question Number : 89 Question Id : 50964713956 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TAH W W AT AT T AT ARl 57

Options:

1. ¥ g Ag® dEard

2. ¥ diz WaAg W

3 ® B A ®I garem

4. & FEA T ST T ST T

Question Number : 90 Question Id : 50964713957 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tomr T e § ol v & O e

Options:

1. %7

2 T

2 % Fiag
4. % gWT

Question Number : 90 Question Id : 50964713957 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ta oy A # fok wem & O d
A A A __ T o T
Options:
1. % ¢

o W aT



3 % Fieg
4 % Zmr

Question Number : 91 Question Id : 50964713958 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Te T e T sigare A1 i

IEEL)
Options:

1. ® feeitar
2 ® fowert
3 faferar
4. % Tty

Question Number : 91 Question Id : 50964713958 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T I ST, T gee AT S

Options:

Question Number : 92 Question Id : 50964713959 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ty Ty et 3 spg w0 T =

Options:

1. & e waaT gt ST, o e o O S AE W Hehd]
2. % T 8 T ST o T T O S g # g
3. ® T FEaT Al A1 o T @ O uei ARl W g

4 % TR FEaT AR; AT o e i whT # Hwd g)

Question Number : 92 Question Id : 50964713959 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Temr T ATt O g5 T e

Options:

1. & TAH aaT g1 ST, o T w7 e S AEi e Hehd]
2. % ToH 9 AT ST o T @ T HguaiT Al w )
3. % T FeaT ARt ot S T W O wei AR W awd

4, % FIAH F8GT 51 AT o T W I ahiT # e o)

Question Number : 93 Question Id : 50964713960 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 101 Question Id : 50964713969 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Pharmacokinetics is defined as:
Options:

; = the study of biological and therapeutic effects of drugs



-  the study of absorption, distribution, metabolism and excretion of drugs

5 % the study of mechanisms of drug action

4 = the study of methods of new drug development
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Correct Marks: 1 Wrong Marks: 0.25
Which of the following drugs is obtained from synthetic sources?

Options:
1 % kaolin

» w heparin

5 o aspirin

4 = morphine
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Question Number : 103 Question Id : 50964713971 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which part of the cell are drug receptors generally found?

Options:
1 % Nucleus

> % Cytoplasm

z « Plasma membrane

4 % Mitochondria

Question Number : 103 Question Id : 50964713971 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

HTAGIT 9T FIReR & g a9 7 iy sfEemgs (397 f@eey) 9w 3 82

Options:

, AfEE (Fgfeead) A

28

L « IAFT FeF (TTELITaTsH) H
. » TOTEAT e &

. TF FH0Te (ATSeFIegan) &

g &
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Majority of drugs cross biological membranes primarily by;
Options:

| « bassive diffusion



- % facilitated diffusion

- % Aactive transport

4 ® pinocytosis
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Question Number : 105 Question Id : 50964713973 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which organ contains the most important enzyme system for metabolizing drugs?

Options:
; = lLungs

- % Heart

- » Kidneys

4 o Liver
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Question Number : 106 Question Id : 50964713974 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Bioavailability of drugs refers to:
Options:

. « the percentage of an administered dose that reaches the systemic circulation in an unchanged form.

- u theratio of drugs excreted unchanged in the urine to that excreted as metabolites.

- » theratio of oral to parenteral dose.

4 = theratio of orally administered drugs to that excreted.
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Question Number : 107 Question Id : 50964713975 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which term is described as rapid development of drug tolerance?

Options:



, « Tachyphylaxis
- % Cellular tolerance

= # Immune tolerance

4 % Distribution tolerance
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Question Number : 108 Question Id : 50964713976 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Biotransformation of drugs is primarily directed to:
Options:

, = activate the drug

- % inactivate the drug

- « convert lipid soluble drugs into non-lipid soluble metabolites

4 # convert non-lipid soluble drugs into lipid soluble metabolites
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Correct Marks: 1 Wrong Marks: 0.25
Which is the major organ of drug excretion?

Options:
1 % Skin

-~ % Liver

- % lLungs

4  Kidneys
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The therapeutic index of a drug is a measure of its:

Options:



|« Safety

> % potency

- u cfficacy

4 w dose variability
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is true of ‘placebos’?
Options:

. « Aplacebo is a dummy medication.

- = Aplacebo is the inert material added to the drug for making tablets.

- % Placebos do not produce any effect.

4 = All patients respond to placebos.
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Question Number : 112 Question Id : 50964713980 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which enzyme facilitates the breakdown of a specific neurotransmitter into choline and acetate?

Options:
1 % Monoamine oxidase

o  Acetylcholinesterase

- % Hexokinase

4, = Phosphatase
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Question Number : 113 Question Id : 50964713981 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A “toxic effect” differs from a “side effect’ in that:
Options:



it is not a pharmacological effect of the drug.

,_.
4

» it is a more intense pharmacological effect that occurs at a high dose or after prolonged medication.

- » it mustinvolve drug induced cellular injury.

4 % it involves host defence mechanisms.
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Question Number : 114 Question Id : 50964713982 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The smooth muscle structure that is relaxed by cholinergic drugs is:

Options:
1 % colon

> u gastric fundus

5 » major bronchi

4 « bladder trigone
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I8 &=y ArEesl gT=ar ST W § S Feiaies gart garr fae g 2

Options:



| » FOTRT (FH)

. ST e (AifEew H3a)

5
. x T QITH-FA (FeehT)
, o T T (s fEEi)

Question Number : 115 Question Id : 50964713983 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The following organism is notorious for developing antimicrobial resistance rapidly:

Options:
| % Streptococcus pyogenes

Meningo coccus
Treponema pallidum

4 « Escherichia coli
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Correct Marks: 1 Wrong Marks: 0.25
A prodrug is:

Options:



. w the prototype member of a class of drugs

- % the oldest member of a class of drugs

=  aninactive drug that is transformed in the body to an active metabolite

4 % adrug that is stored in body tissues and is then gradually released in the circulation
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Correct Marks: 1 Wrong Marks: 0.25

Which of the following neurotransmitters bind to nicotinic receptors?
Options:

1 % Histamine

- = Dopamine

%z % Glutamate

4  Acetylcholine
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Question Number : 118 Question 1d : 50964713986 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0.25

Local anaesthetics work by:

Options:

¢ blocking calcium ion channels to prevent depolarization

L .

-~ = blocking potassium ion channels to prevent depolarisation

5 « blocking sodium ion channels to prevent depolarisation

4 = blocking magnesium ion channels to prevent depolarisation

Question Number : 118 Question 1d : 50964713986 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 119 Question Id : 50964713987 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is used to determine the loading dose necessary for a desired blood concentration of drugs?

Options:



1 # Clearance

- u Efficacy

5 w Potency

4 « Volume of distribution
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Correct Marks: 1 Wrong Marks: 0.25

The ability for a drug once bound to activate the receptor and produce a response is:
Options:

, = affinity

- % agonist

5 o cfficacy

4 % potency
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Disciplinez
Section Id : 509647558
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Question Number : 121 Question Id : 50964713989 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which equation is used to predict the stability of a drug product at room temperature from experiments at accelerated
temperature?

Options:



¢ The Stokes equation

R

- # [IheYong equation

=  The Arrhenius equation

4 % The Michaelis-Menten equation

Question Number : 121 Question Id : 50964713989 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 122 Question Id : 50964713990 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The route of drug administration that gives the most rapid onset of the pharmacological effect is:
Options:

 Intramuscular injection

e o

o  iDtravenous injection

- » intradermal injection

5 ® peroral administration

Question Number : 122 Question Id : 50964713990 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 123 Question Id : 50964713991 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a G protein-coupled receptor?
Options:

, « Muscarinic cholinergic receptor

-~ % Nicotinic cholinergic receptor

= u Glucocorticoid receptor

4 # Insulin receptor

Question Number : 123 Question Id : 50964713991 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 124 Question 1d : 50964713992 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Creatinine clearance is used as a measurement of:



Options:
1 % renal excretion rate

-  glomerular filtration rate

= % active renal secretion

i % passive renal absorption

Question Number : 124 Question Id : 50964713992 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Fea 7 & &9 & A & v GekTa T (Fewim) & g3er GFar smar 22

Options:

| % TFRIT 3eHS &

o » TEETER e &

- TfhT JehIT T3

, w TSI TP FHeRITSOT

Question Number : 125 Question Id : 50964713993 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The disease in which haemoglobin is defective is:

Options:
1 % haematoma

- % haematuria

- » haemophilia

4 « sickle cell anaemia

Question Number : 125 Question Id : 50964713993 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 126 Question Id : 50964713994 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A disease of the large and intermediate-sized arteries in which fatty lesions are found is called:
Options:

, % Stokes—Adams Syndrome

> « atherosclerosis

5 % Osteoporosis

4 % osteoarthritis

Question Number : 126 Question Id : 50964713994 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 127 Question 1d : 50964713995 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following organelle is responsible for energy production in cells?

Options:



1 « Mitochondria
- % Nucleus

- » Rough endoplasmic reticulum

4 = Smooth endoplasmic reticulum

Question Number : 127 Question Id : 50964713995 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 128 Question Id : 50964713996 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which chamber of the human heart has the thickest muscular wall?
Options:

; = Rightventricle

> # Left auricle
z « Left ventricle

4 = Rightauricle

Question Number : 128 Question 1d : 50964713996 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 129 Question Id : 50964713997 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Arteries and veins are:
Options:

1 % muscles

» w glands

3 « blood vessels

4 % chambers

Question Number : 129 Question Id : 50964713997 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Options:
1 % ATEY TR
> ®% FTAAT

. » TFdETgeR

4 % PSS

Question Number : 130 Question Id : 50964713998 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Gastric juice contains:

Options:



. « bepsin, lipase and rennin

- % trypsin, lipase and rennin

= % trypsin, pepsinand lipase

4 % trypsin, pepsin and renin

Question Number : 130 Question Id : 50964713998 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 131 Question Id : 50964713999 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Succus entericus is the name given to:
Options:

, w ajunction between the ileum and the large intestines

-  iDtestinal juice

- » aswelling in the gut

4 % appendix

Question Number : 131 Question Id : 50964713999 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 132 Question Id : 50964714000 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What will be the pO2 and pCO?2 in the atmospheric air compared to those in the alveolar air?

Options:
; = PO2 lesser, pCO2 higher

5>  PO2 higher, pCO2 lesser

5 = PO2 higher, pCO2 higher

4 # PO2 lesser, pCO?2 lesser

Question Number : 132 Question Id : 50964714000 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

., » pO2 FA, pCO2 3fermm

. » PO2 3ifek, pCO2 &H

. » pO2 ek, pCO2 3fere

4 » PO2 ®H, pCO2 A

Question Number : 133 Question Id : 50964714001 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The principal hypoglycaemic hormone released from the pancreas is:

Options:



; » glucagon

- o insulin
% % adrenaline

4 # growth

Question Number : 133 Question Id : 50964714001 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 134 Question Id ;: 50964714002 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which type of white blood cells are concerned with the release of histamine and the natural anticoagulant heparin?

Options:
; = Monocytes

> % Neutrophils

-  Basophils

4 = Eosinophils

Question Number : 134 Question Id : 50964714002 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 135 Question Id : 50964714003 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The thin protein filaments found in skeletal muscles are called:

Options:
1 # titin

> % Myosin

- % froponin

4 « actin

Question Number : 135 Question Id : 50964714003 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 136 Question Id : 50964714004 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The thoracic cage of man is formed of:

Options:



1 « libs, sternum and thoracic vertebrae

- % ribs and thoracic vertebrae

5 w Iibs, sternum and lumbar vertebrae

4 % ribs and sternum

Question Number : 136 Question Id : 50964714004 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 137 Question Id : 50964714005 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Relaxation of arteriolar smooth muscles leads fo:
Options:

1 « vasodilation

> # Vvasoconstriction
=z % decreased blood flow

4 % increased pressure

Question Number : 137 Question Id : 50964714005 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 138 Question Id : 50964714006 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The lifespan of an erythrocyte is approximately:
Options:
50 days

3.9

100 davs

P
B

5 120 days

200 days

Question Number : 138 Question Id : 50964714006 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

o % 100 R
. » 120 R
4 % 200 R

Question Number : 139 Question Id : 50964714007 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The maximum volume of air contained in the lungs by a full forced inhalation is called:

Options:



, w Vital capacity

- % tidal volume

- « total lung capacity

4 = lnspiratory capacity

Question Number : 139 Question Id : 50964714007 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 140 Question Id : 50964714008 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The main physiological stimulus for vasopressin release is:

Options:
1 % blood volume

- « plasma osmolality

- % blood pressure

4 % stroke volume

Question Number : 140 Question 1d : 50964714008 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 141 Question Id ;: 50964714009 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A reduction in blood pH due to a panic attack can be classified as a:
Options:

1 % metabolic acidosis



-  lespiratory alkalosis
= % metabolic alkalosis

4 % lespiratory acidosis

Question Number : 141 Question Id : 50964714009 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 142 Question 1d : 50964714010 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following factors would reduce the affinity of oxygen for haemoglobin?
Options:

, = Increased plasma pH
5 % Decreased 2, 3 DPG
-  Decreased pH

, = Increased plasma concentration of calcium

Question Number : 142 Question Id : 50964714010 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 143 Question Id : 50964714011 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In what order are free fatty acids, monoglycerol and cholesterol packaged into, to be absorbed via diffusion?

Options:
; = Chylomicrons

> w Apolipoproteins

= « Mixed micelles

4 # Low density lipoproteins

Question Number : 143 Question Id : 50964714011 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 144 Question Id : 50964714012 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The main symptoms of urritable bowel syndrome are abdominal pain and:
Options:

1 % blood in the stool



-  @change in bowel habits

= % inflammation

4 ® passing of mucus

Question Number : 144 Question Id : 50964714012 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 145 Question Id : 50964714013 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Signals for parturition originate from:

Options:
; = the placenta only

> u afully developed foetus only

-  both placenta as well as a fully developed foetus

4 # Oxytocin released from maternal pituitary

Question Number : 145 Question Id : 50964714013 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 146 Question Id : 50964714014 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Spermiation is the process of the release of sperms from the:

Options:
1 « seminiferous tubules

- % vas deferens

5 % epididymis

4 = prostate gland

Question Number : 146 Question Id : 50964714014 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 147 Question Id : 50964714015 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following hormones is NOT secreted by the human placenta?

Options:



1 # hCG

5 % Estrogens

5 » Progesterone

4.« LH

Question Number : 147 Question Id : 50964714015 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

. = hCG
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4« LH

Question Number : 148 Question Id : 50964714016 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A surge in the levels of which hormone is responsible for ovulation?

Options:
1.« ILH

- ® FSH
= % Oestradiol

4 R Progesterone

Question Number : 148 Question 1d : 50964714016 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 149 Question Id : 50964714017 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A Body Mass Index (BMI) of 27.2 l{g.--'n_'L2 would be classified as:

Options:
| % underweight

-~ % Dhormal weight

5  Overweight

4 % obese

Question Number : 149 Question Id : 50964714017 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 150 Question Id : 50964714018 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

During exercise, what form of heat transfer is most affected?
Options:

1L o Evaporation



> #% Conduction
z % Convection

4 % Radiation

Question Number : 150 Question Id : 50964714018 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 151 Question Id : 50964714019 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is used for counting of ervthrocytes and leukocytes?
Options:

1 % Hand-held refractometer

> % Dynamometer

%z % Oximeter

4 HE‘HIGC}WGHIE"EET

Question Number : 151 Question Id : 50964714019 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 152 Question Id : 50964714020 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What type of instrument is a haemostat?
Options:

, « Clamping instrument

- » Holding instrument

5 » Grasping instrument

4 = Dissecting instrument

Question Number : 152 Question Id : 50964714020 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 153 Question Id : 50964714021 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

What type of instrument is a speculum?
Options:

; » Clamping instrument



> w Grasping instrument

T ¥ 1
3 Viewing instrument

4, = Dissecting instrument

Question Number : 153 Question Id : 50964714021 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 154 Question 1d : 50964714022 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which material is mostly used for making modern surgical instruments?

Options:
1 % Bronze

> o Stainless steel
= % Wood

4 % Aluminium

Question Number : 154 Question 1d : 50964714022 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 155 Question 1d : 50964714023 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
All are classifications of surgical instruments except:

Options:
, = cutting instruments

- » dilating instruments

5  Sliding instruments

4 % grasping instruments

Question Number : 155 Question 1d : 50964714023 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 156 Question Id : 50964714024 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT a tissue forceps?
Options:

; = DeBakey forceps



> w Thumb forceps

5 = Pick-ups

4 « Plumbs

Question Number : 156 Question Id : 50964714024 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 157 Question Id : 50964714025 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Insufflators are used to push:

Options:
1 % nitrous oxide

~ « carbon dioxide
5 ® air

4 % argon

Question Number : 157 Question Id : 50964714025 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 158 Question 1d : 50964714026 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following speciality scopes is used for exploration of the biliary system?
Options:

, = Fetoscope

-~ % Angioscope

5 % Ureteroscope

4  Choledochoscope

Question Number : 158 Question Id : 50964714026 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 159 Question Id : 50964714027 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Power tools are powered by all of the following, except:
Options:

; % hitrogen



> o carbon dioxide

- u electricity

4 % batteries

Question Number : 159 Question Id : 50964714027 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 160 Question 1d : 50964714028 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT one of the most important properties of suture materials?

Options:
; = Physical properties

» = Application properties

- u Bilological properties

4 « Chemical properties

Question Number : 160 Question Id : 50964714028 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Discipline4
Group Number : 9
Group Id : 509647400
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Discipline4
Section Id : 509647560
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 509647754
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 50964714029 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The most frequently used Beaver blade is blade:

Options:
; « No.69

> % No.10



s % No.24

4 % No.22

Question Number : 161 Question Id : 50964714029 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 162 Question Id : 50964714030 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What are malleable, wire like instruments used for the exploration of a structure such as a fistula or duct called?

Options:
1 % Dilators

- « Probes
= % Sutures

4 % Scissors

Question Number : 162 Question Id : 50964714030 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 163 Question Id : 50964714031 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The source of the most surgical site infections is:

Options:
, « the patient’s own flora

- w personnel objects

5 % inanimate objects

4 % airborne contaminants

Question Number : 163 Question Id : 50964714031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 164 Question Id : 50964714032 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The process which includes all those procedures, activities and behaviours designed to keep away the micro-organisms
(bacteria, fungi. viruses) from a patient’s body and the surgical wound is known as:

Options:

1 % disinfection



- w antisepsis

5 o Asepsis

4 % sterilization

Question Number : 164 Question Id : 50964714032 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 165 Question Id : 50964714033 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The chemical name of betadine is:
Options:

, « Ppovidone-iodine

- % isopropanol

z % chlorhexidine

4 % lodine

Question Number : 165 Question Id : 50964714033 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 166 Question Id : 50964714034 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which machine uses the temperature and pressure of steam for disinfection?

Options:
1 % Laminar Airflow

- « Autoclave
= % Oven

4 % Water Jet

Question Number : 166 Question Id : 50964714034 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 167 Question Id : 50964714035 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
D-value is the amount of time required at any temperature to kill:

Options:
1 « 90% of the microbes

> % 50% of the microbes



= % 20% of the microbes

4 % 100% of the microbes

Question Number : 167 Question Id : 50964714035 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 168 Question Id : 50964714036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a highly resistant, non-pathogenic microorganism used as a biological indicator for steam
sterilization?

Options:

1 % Bacillus subtilis

-  Bacillus stearothermophilus

= % Bacillus clausii

4 % Bacillus anthracis

Question Number : 168 Question Id : 50964714036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Question Number : 169 Question Id : 50964714037 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is the best method of sterilization of surgical supplies and drugs after they have been packaged?

Options:
1 % Ultrasonic waves

> « Electron-beam radiation

5 % Gamma rays

4 % UVrays

Question Number : 169 Question Id : 50964714037 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 170 Question Id : 50964714038 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Bandages that are applied on wounds contain:

Options:
, = copper sulphate

> % lodine/silver nitrate



= « benzalkonium chloride

4 = crystal violet

Question Number : 170 Question Id : 50964714038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 171 Question Id : 50964714039 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is used to sterilize operation theatres in hospitals?

Options:

; = Washing with Dettol

5 R Carbolic acid spraying

-  Formaldehyde fumigation

4 = Ethylene oxide

Question Number : 171 Question 1d : 50964714039 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 172 Question Id : 50964714040 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Sharp instruments should NOT be sterilized by:

Options:
1 % chemical disinfectants

- « boiling

- » autoclaving

4 % hot air ovens

Question Number : 172 Question Id : 50964714040 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Question Number : 173 Question Id : 50964714041 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT a feature of aldehvdes as a disinfectant?
Options:

; = They kill all microorganisms, including spores

- w Poor penetration



-  Dehydrate cells

4 = Actthrough alkylation of amino-carboxyl or hydroxyl group

Question Number : 173 Question Id : 50964714041 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Question Number : 174 Question Id : 50964714042 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is used topically to help to prevent colonization and infection of burn tissues?

Options:
1 % Merthiolate

- = Copper salts

= % Mercurials

4 « Silver sulfadiazine

Question Number : 174 Question Id : 50964714042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 175 Question Id : 50964714043 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sterilization strength of disinfectants is determined by the:
Options:

1 % dilution test

-  Phenol coefficient test

z % decimal death value

4 # concentration gradient test

Question Number : 175 Question Id : 50964714043 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 176 Question 1d : 50964714044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Cholecystectomy is:
Options:

, = asurgical procedure to remove blockage from carotid arteries



o o asurgery to remove the gallbladder

5 » asurgical removal of a woman's uterus

4 = aremoval ofa part of or the entire breast

Question Number : 176 Question Id : 50964714044 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 177 Question 1d : 50964714045 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is true with regard to hereditary pancreatitis?

Options:
1 % Autosomal recessive disorder

5  Has 80% penetrance

5 % Accounts for about 30% of cases of chronic pancreatitis

4 = 12G4 concentrations are elevated

Question Number : 177 Question 1d : 50964714045 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 178 Question Id : 50964714046 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Abdominal approach is used in:
Options:

; = Thiersch operation

» w Delorme’s operation

5 # Altemier’s procedure

4 « Ripstein’s operation

Question Number : 178 Question Id : 50964714046 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 179 Question Id : 50964714047 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Stemmer’s sign is due to:
Options:

; = lipodystrophy



- u retroperitoneal fibrosis

= « subcutaneous fibrosis

4 = deep vein thrombosis

Question Number : 179 Question Id : 50964714047 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 180 Question Id : 50964714048 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is true regarding type III neuroendocrine tumour of the stomach?

Options:
, w Most frequent neuroendocrine tumour of the stomach

o  Serum gastrin is normal

- » High grade malignant tumour

, = Endoscopic resection is the treatment of choice

Question Number : 180 Question Id : 50964714048 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Disciplines
Group Number : 10
Group Id: 509647401
Group Maximum Duration : 0
Group Minimum Duration : 120
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
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Section Id : 509647561
Section Number : 1
Section type: Online
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Number of Questions: 20
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Section Marks: 20
Display Number Panel: Yes
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Sub-Section Number: 1
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Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 50964714049 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The most urgent aspect in treatment of arterial embolism is:
Options:

, = digitalis

-  heparin



- % morphine

4 % diuretics

Question Number : 181 Question Id : 50964714049 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 182 Question Id : 50964714050 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a complication of an inguinal hernia?

Options:
1 % Inflammation

> % Strangulation

z % Obstruction

4  Bleeding

Question Number : 182 Question Id : 50964714050 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Question Number : 183 Question Id : 50964714051 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following treatments require Kasai operation?
Options:

; w Intrahepatic biliary atresia

- « Extrahepatic biliary atresia

=z % Caroli's disease

4 = Choledochal cyst

Question Number : 183 Question Id : 50964714051 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 184 Question 1d : 50964714052 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT part of a patient’s historv?
Options:

; = Primary complaint

» = Review of body systems



5 w Family history

4 « Name and date of birth

Question Number : 184 Question 1d : 50964714052 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 185 Question Id : 50964714053 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In hospital emergency codes, what does blue colour mean?

Options:
1 % Fire

-  Heart or respiratory arrest
= % Infant and child abduction

4 % Acombative person

Question Number : 185 Question 1d : 50964714053 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 186 Question Id : 50964714054 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following positions of the patient is most commonly used for surgery on the lower abdomen and pelvis?
Options:

, « Trendelenburg position

- # Reverse Trendelenburg position

- » Fowler’s position and sitting position

4 # Supine position

Question Number : 186 Question Id : 50964714054 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 187 Question Id : 50964714055 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following are the major modes of heat loss to the patient, accounting for up to 80% of the total body heat
lost intraoperative?

Options:

, = Radiation and evaporation



> « Radiation and convection
=z % Convection and conduction

4 % Convection and evaporation

Question Number : 187 Question Id : 50964714055 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 188 Question Id : 50964714056 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT a common nursing medication error?
Options:

Wrong time

3.9

5 R Wrong rate

5 w wrong dose

4 « Wrong order

Question Number : 188 Question 1d : 50964714056 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 189 Question Id : 50964714057 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is incorrect installation of equipment in the hospital known as?

Options:
1 % Latent error

- % Potential adverse error
3 % Sentinel error

, « Both latent and potential adverse error

Question Number : 189 Question Id : 50964714057 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 190 Question Id : 50964714058 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Sterile technique is essential during catheter insertion to prevent which of the following major nosocomial infections?
Options:

, « Urinary tract infections



> % Blood infections

- = Septicaemia

4 = Urethral injury

Question Number : 190 Question Id : 50964714058 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 191 Question Id : 50964714059 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which position is ideal for catheterization of male patients?

Options:
;% Trendelenburg position

- = Reverse Trendelenburg position

Fowler’s position and sitting position

4 « Supine position

Question Number : 191 Question Id : 50964714059 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 192 Question Id : 50964714060 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which is the most common method of transmission of pathogens?

Options:
« Moisture droplets

1. -3
» « Direct contact
2 # Air currents

4 = Contaminated linen or clothing

Question Number : 192 Question Id : 50964714060 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 193 Question 1d : 50964714061 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT the phase of POMR (problem-oriented medical record)?

Options:



1 # Formation of a database

- » Development of a current problem list

- » ldentification of a specific treatment plan

4 « Assessment of the operation theatre

Question Number : 193 Question 1d : 50964714061 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 194 Question Id : 50964714062 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The most common type of seizure is the:

Options:
, « grand mal seizure

5 % petit mal seizure
- % focal seizure

4 = psychomotor seizure

Question Number : 194 Question 1d : 50964714062 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 195 Question Id : 50964714063 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a first-line drug in the treatment of severe anaphylactic reaction?

Options:
1 % Steroids

- » Intravenous fluids and plasma

5  Epinephrine

4 = Levophed

Question Number : 195 Question Id : 50964714063 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 196 Question Id : 50964714064 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Information about the patient and the plan of care is contained in the status notes. which is written in the following
format:



Options:
, « Subjective, Objective, Assessment and Plan (SOAP)

- # Objective, Subjective, Plan and Assessment (OSPA)

- u Plan, Objective, Assessment and Subjective (POAS)

4 = Objective, Subjective, Assessment and Plan (OSAP)

Question Number : 196 Question Id : 50964714064 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 197 Question Id : 50964714065 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is the most commonly used in a thermal haemostatic device?
Options:

, « Electro cautery

- w Bipolar cautery

= % Lasers

4 w Tourniquet

Question Number : 197 Question Id : 50964714065 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 198 Question Id : 50964714066 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How many elements are there in a cycle of infection?

Options:

[E]

Question Number : 198 Question Id : 50964714066 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 199 Question Id : 50964714067 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Patients are always requested NOT to take aspirin for a week prior to surgery because:
Options:
, = ofits hypoglycaemic property.

- u Oofits role as coagulant.

5  Ofits anticoagulant properties.

4 = it increases the blood pressure.

Question Number : 199 Question 1d : 50964714067 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 200 Question Id : 50964714068 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
After treating a patient in protective isolation, personal protective equipment should be removed in the following order:

Options:

1 gloves, goggles, gown, mask
> w mask, gloves, goggles, gown
5 = gown, mask. gloves, goggles
4 # goggles, gown, mask, gloves

Question Number : 200 Question Id : 50964714068 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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